
Y5 & Y6× ÷ MEMORY LANE

Task A

Task B: I know… so…

Ways to calculate 45 × 18:

less than 45 × 20

90 ×

15 × 8 = 120

17 × 8 =

17 × 7 =

20 × 7 =

Can you think of 
other ways?

Task C: I know… so…

20 × 12 = 240

23 × 12 =

23 × 11 =

23 × 22 =

Task D



Y5 & Y6

Task E

× ÷ MEMORY LANE

Extend

Answers

Task A: 90 less than 45 × 20      90 × 9

Task B: 136    119     140

Task C: 276     253      506

Task D: 1. 100g sugar      2. 600g butter, 750g sugar, 900g flour, 12 eggs      3. £4

Task E: Mr Smith has 56 outfits, Mrs Smith has 60 outfits

Extend: 96, 72, 48, 36, 32, 24, 18, 16, 12


